x2—px+q=0°FZO o, BoIth @+ =3, afp=2% W p*+4
o) g2 Fafol

> E:

> ®™E: 13

= 29 Fo] 30]BE p—3,
= 329] Fo] 2082 g = 20|t
webd p? 4+ g7 =9+4=13




SA (x +yi)(z— i) = 10 WEdt= A x,y,29] &4

o 45 Tatefet. (@ i = v-1)

> = Kl

o

(xz+y) + (yz—x)i = 10

x2+y=10 ---@, yz—x=0 ---©
O=0° Hid

y(z2+1) =10

75 7|F 0= stof eARS FolEH
(5, 5, 1), (4, 2, 2), (3, 1, 3) 37}




OJZPIAA] (1-i)x® + (-3+i)x+2 =02 HEx=a F=x=p+qi
oltt, o]l W, a + p + ¢ T st (P a, p, g= HF)

(1= 4+ (-3+i)x+2=09 FHA 1+iE F4H
A+)1-)x%+ (1 +i)(-3+i)x+2(1+i)=0

2x2 =22 +i)x+2(1+i) =0
¥-2+ix+1+i=0

(-1 {x-(1+i)}=0

x=1FE=x=1+i

La+p+qg=3




o] A4 a, bol o] THe Bhd F 2= a(l+i) + b(1 - i) (%=
S)4TH)) o) B LpEhd 4 gl 229

O -3+ @ 2+3i ®)5-2i
@ 1-3i ® -4-29i

B ~

z=(a+b)+(a—b)ieA (a>0, b>0)
DQa+b=-3,a-b=1

Ca=-1, b=-2 (A
@a+b=2,a-b=3

5 1
La= 3’ 2—5 (_‘?_Zj%]-)
®a+b=5 a-b=-2
=2 =1 (@9 as)

@a+b=1,a-b=-3
La=-1, b=2 (§33)
®a+b=-4, a-b=-2
L a=-3, b=-1 (24




5.

1
1o
ndl
o
l

2x% = 3xy+my? —=3x+y+1°] F &=}
e m o gh2?

2x%2 —3xy+my? -3x+y+1
=2x2 - By +3)x+m? +y+1
o] F AHA Y] Fo g QApRfHER
D= (3y+3)2-8(my?+y+1)
=9y? + 18y +9 — 8my? — 8y — 8
= (9-8m)y* + 10y + 1
oA7|A D/4 = 25— (9 - 8m) = 0°]ojof o2
25-9+8m=0
8m = —-16
Som= =2




